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f | gelect the best alternative ) :-‘-'-:" 38 Cog
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v ¥ 19 )
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What number should replace the question mark 7 [ ', ";.' b ‘:
A 100, 95, 2 . 79. 68, S5, 40, 23 b A et
(a) 72 (hy 73 (¢) *®2 (d) B8 s
9
& IuS* B
a 4 Statements I All birds are tall Nq W ™ Lovp
. Some tall are hens ) '5} 34U S 1
Q¢ Caonclusion . Some birds are hens ,’i’..:
1€ 8 . 2
: . Some hens are tall P s
2 @ Only conclusion I follows (b) Only conclusion Il follows C
(¢ Either conclusion [ or 11 follows (d) Neither conclusion | nor 11 follows.
s [In the following questions, 2 series is given with one lerm missing. Choose the correct
ahernative from the given ones that will complete the series —
AGMSY. CIOUA. EKQWC. 7. IOUAG KQWCI
42) GMSYE (b) FMSYE (c) GNSYD (d) FMYES
e i G ; . -
6. IfREQUEST is written as §2R52TU, then how will ACID be written ? 1
(@) 1394 (b) B3IU () BDIE ) 1D3E ‘-g;-; :
. __'\_..‘ SN T‘u
7. P#Qmeans‘Pisa father of ° __%_m_. L W .5
o P + () means ‘P is a mother of Q' S 5___’_‘_'1:,‘ _':_‘_: 4
2 : ; i
i P-Qmeans Pisa brother of Q o bo
P * Q means ‘P is a sister of Q' 1“1?_;.-
IfA+B#C-D,thenAisD’s Bt .2 5)
—
€L g2

(a) Father (b) Grandmother (¢) Grandfather @) Sister

If * A’ means “Subtraction”, ‘B’ means “Division”, *C” means “Addition” and ‘D’ means

“Multiplication”. Then 305B5A28C43D12="7
(a) 530° (b) 520 k) 549 (d) 560

L= X5 PT.0
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rth. From there, he walks 6 km towards south. Then he walks

TJohn walks 10 km towards no ik S <tarting point 9

3 km towards east. How far is he with referen

km
(a) 8km W) 7km (c) 6km @ 3
e 9 .
Select the figure which does not belong 10 the group. 5 e haw
A|B|E|F Do M1
n @ ) &
(a) | (b) 2 (c) 3 (d) 4

Which of the answer figures will take place of ?

Problem figure

S| BBl

(n (2) 3) L4)

(@) 1 b)) 2 () 3 (d 4

Select the word which can be formed from the word ‘IMMEDIATELY".
{a) DIALECT &) LIMITED (¢) DIAMETER (d) DICTATE

I am facing east. I then turn 100° in the clock-wise direction and then 145° in anticlock-
wise direction. Which direction am I facing now ?
(a) North (b) East (c) North-East (d) South-West

Ina class of 35 students, 4’s rank is sixth from the top, B is seven ranks below 4. What is B’s
rank from the bottom ?

() 22 (b) 20 () 19 (d) 23

Pointing to a boy, Johny said “He is the son of my grandfather’s only son”. How is the oy
related to Johny ?

(a) Son (b) Nephew (c) Brother (d) Sister

Choose the pair which is different from others.
@ 117:13 (b) 162:18 () 171:19 @ 304:16

gmose the missing term out of the given alternatives —
()ﬂ:h?,s-wo,q-m,t)—m
a -

122 b) V-121 & U-121 d) VvV-128

-
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: : i the inissing number in the serics - " Bk
e wilky L L6, 18 7. 45, 66, 91 ?i g‘ “
6, 130 5

15 (hy 26 ) 29 (d) 28 %, Z'

(n}

[{INI A is coded as 27924 and CRICKET is coded as 1621835, then DIR1 will be coded

i”'
i E,—
) 9R7E (b) 9825 ) 9265 (@) 9165 SR,
By S 133
¢ I+t 37
g frnd 2@ 6= T8 and A o Vet Al
; ) i . P s _:9_’[4*“,} L — -
1544 @ &= 152, then = wih e 1
) |
|7#6@7="? q ug 3
L
@ 101 (b) 143 (c) 221 d 157. P utvv
'.‘1 A
a1, Find {he missing number in the following series. 2, 3, . L?
() 184 Ay 112 (c) 925 (d) 45 Y
3 G- ;
72, In it is any odd number greater than 1, then n(s* = 1) is always I g 2h ;'
T
(n) divisible by 96 (b) divisible by 48 ;‘; 0
(¢) divisible by 24 (d) divisible by 47
Heloek ~n JH
31 Ifanumber is divided by 3, it reduces by 34. the number is A
il m 5l (b) SO (c) 45 (d) 40 s

it is 'y y A
24, What will be the average of even numbers between 111063

{u) 37.5 (hy 47 o) 42 dy 3

-
]

25, Find a fraction which shall bear the same ratio to 15, that 7% doesto 7.

he boy 23,
() %;, ) 1%7 (c) 1?/:7 (d) lzz-‘,

BBl the money of B and B has 50 % more money than C. If average money of all

(b) 315000711 (c) 216000/11 (d) 316000/11

as :. secure 36 % marks to pass. He gets 150 marks and fails by 30 marks. The

600 (c)

(b) d) 620
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%, If his salary iy

. mth by 4 %.

" smployee of & company increases every s » month of O¢tobe

Thie selary of an SRPT- | be his approximate salary inthem r
e hi ]

August was Rs. 6300, then what woulc

of the same vear 7 (dy Rs, 6627
(@) Rs. 6552 (b) Rs. 6967 ®) Rs. 6814 ’
e the total number of
In a class of 60 students, cach student got 5w cets that are 15 % ol t
students. How many sweels w er¢ there ? & 540
(@ $20 (b 530 (¢) 535 Q) '

3 1 e o] »
225. What will be his gain percent

A person buys a book for Rs. 200 and sells it for Rs. _
18.4 % (d) ~42.5%

@ 13% (by 14% (c)

Find the simple interest on Rs. 7200 at 8 % per annum for 10 months.

(a) Rs.410 (b) Rs.420 (@ Rs. 450 (d) Rs.520

On a 20 % discount sale, an article cost Rs. 596. What was the original price of the article ”
(a) 735 ™) 745 (¢) 755 (d) 765

The average of the daily income of 4, Band Cis Rs. 250. If B earns Rs. 30 more than C and
A eamns double of C. what is the daily income of C ?
(a) 180 by 185 (c) 190 (d) 195

48 workers can reap a field in 9 days. If the work is to be completed in 6 days, the extra
workers required arc —
(a) 22 *) 24 (c) 32 (dy 36

Find the average of the first six odd multiples of 5.
(@ 30 (b) 32 (c) 40 (d 43

How long will a man take a bicycle round a square field of side 1500 m, if his speed is 8
km/hr ?
@ 36minutes  (®) 4Sminutes  (c) SOminutes  (d) S5 minutes

A man performs ¥, of the total j ' by car, % by
nan ‘ A | journey by car, /; by bus and the remaining 75 km by
lrain. His total journey is —

(a)ﬁaézm (b) 908 km (©> 1910 km (d) 900 km
2 e
— Yo ) e
Lo T 0r 0 RD) @ore) 2L ¢ b2
= vk ge=3p 3N v
'l“ 3 9 Contd.
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Y
{wo stations 1000 km apart. A train starts from A and moves towards Bat 40
wards A at 60 kmv/hr. How

gm/br. Another train starts from B at the same time and moves (O
far from A will they cross each other ?
@) 350 km (b) 400 km (¢) 525km (d) 550km

18, A and B arc

4.8 and ¢ entered into partnership in a business. 4 got % of the profit. Band Cdistributed

9.
the remaining profit equally. If C got Rs. 400 less than 4, the total profit was—
) Rs.1600 (b) Rs. 1200 (¢) Rs.1000 (d) Rs.800
40, Aand B together can do a piece of work in 12 days while Balone can finish it in 30 days. 4
alone can finish the work in —
(v) 18days (b) 20days (c) 22days (d) 25days. o
: C(.
41. Inhow many ways can 3 people be seated in a row containing 6 seats 7 C s S en”
@ 110 (b) 130 (c) 140 W 120

rs can be formed from 1,2, 3, 4. 5 (without repetition), when the digit at

t be greater than that at the ten’s place ?
© 3} (d)2 x 4!

42, How many numbe
the unit’s place mus

3

(ay 54 (b) 60

art carefully to answer the questions that follow :
A L

(43 - 45) Study the following pie ch

B in 2 month =Rs. 45800

i by the family in commuting ?
Rs. 10534 (c) Rs.6850 (d) Rs.8702

mount spent by the family on medicine to the amount spent

8 @ 11:23
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i ing ?
45 What is the total amount spent by the family on entertainment and shopping
908
(a) Rs. 9618 (y) Rs. 13282 (c) Rs. 13740 (d) Rs. 1l
3 4
Answer the questions (46 —48) based on the graph given below : o LD
\ 33¢cyp
. W ¢ g0
Foreign exchange receives of a country (in million US dollars) fﬁ
5040 : l{:%ﬁ?
o 4320 | | -’LS’?L Sov
3720 o
] 33_69 3120 3120 sb [8¥O
2640 2530 ;o
1 b
% 636
1 L§w
kv i
HL h’_\w r >

1991-92 1992-93 1993-94 1994-85 1995-06 1996-97 1997-98 1598-99

46. The foreign exchange receives in 1997 — 98 was how many times that in 1994 - 95 ?
(a) 0.7 by 1.2 (c) 1.4 d) 1.5

47. What was the percentage increase in the foreign exchange receives in 1997 — 98 over
1993 -94 ?

Aa) 100 (b) 150 (c) 200 (dy 620

48. Forwhich vear is the percent increase of foreign exchange receives over the previous year
the highest ?

(n 1993 - 94 (b) 1994 - 95 (c) 1997 - 98 (d) 1992-93

49. Byselling a goat for Rs. 990 a man loses 10 %. At what price should he sell the goat to gain
10%?

t& Rs. 1210 (b) Rs. 1200 (c) Rs. 1230 (d) Rs. 1300
50. A sum when reckoned at 8 % per annum S.I amounts to Rs. 3150 in 5 years. Find the sum
(a) Rs. 2000 (b} Rs. 2250 (¢) Rs.2300 (d) Rs. 2450
@) RBI (b) SEBI (c) USSD (d) NPCI
3Ieo(1+%
e -t 1>
PAL 2191 pysy % I5%S  MFY
v
i S SEY 6 1815 =— Contd
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- which of the following modes loads minimal set of drivers when starting windows ? ‘?ﬁ]{
@ Safe mode (b)  Normal mode e
() VGAmode (d) Network support mode. a1 k.%
g3, Ihe combination of column letter and row number of a cell in spreadsheet is called 11h g0
(@) Cell Across (b)  Cell Identification Number ' 5!':.
@ Cell Reference (d) Cell Identity. 3350
"g0o0

which of the following displays cach slide of the presentation as a thumbnail and is useful

» for rearranging slides ?
a) Slide Master (h) Slide Show r
:c} Slide Sorter {;-l; Slid::1humbt1ail. L] 5
l' .
s5. Which software is copyrighted and bears the limits against use 7 33 U[ W‘D
(a) Open Source Software (b) System Software 254 D
(¢) Application Software (d) Proprietary Software. I3 0

s6. The bleeding of a signal from one wire to another which causes corrupt signal is called—

{a) Crosstalk (b) Insulation () Jacking (d) Foiling. s10L
4580

13

€f 57 Inthe abbreviation of OMR, M stands for - 282

(2) Magnetic (@) Machine (c) Mark (d) Masked.
58, Which of the following is an example of Toggle case ? 13
m -
() TOGGLECASE (b) toggle case &Y 5 Lseew
(c) ToggleCase (d) tOGGLEcASE. ‘&p\h D
- %
; 9
Svare that can be described as “end-user” software 1s— L| S8 ¥L
S (g) DOS 19
pvare (d) Operating software. U124,
- 458+
i ; L -
for a website or a webpage 1S - E.J?D:ﬁ, 2

(b) E-mail account (c) Home page (d¥y URL

1o digitally store important documents like PAN Card, Passport etc. ?
(b) BHIM (¢) Digilocker (d) Phone Pe

: P aakff‘f-
s absolute referencing in spreadsheet 7

(&) SASI 2 (d) $A:$1
7 215D n@ 315 g P.T.0

« 3% % L?E-O
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Which of the following is correct email * - ebsite.info
e L eld; -
(a) name@website@info Tb) nam @ bsite.info
- site.
(¢) www.website.info (d) name.wWebs
; ch Lext or graphi
The is a temporary storage area in memory where you can attach grap

information.
i (d) cutboard

(c) pasteboard

(a) clipboard (b) copyboard

The intersection of rows and columns in a worksheet form a —

(b) cell (c) oval (d) worksheet

(a) square

In MS-Excel. to select a column, the easiest method 15 to —

(a) double click any cell in the column
(b) drag from the top cell in the column to the last cell in the column

(&) click the column heading
(d) click the row heading.

What is the extension of PageMaker file ?
(@) .cdr (b) .pmd (c) .gif (d) xlsx

What is the unit to measure the quality of a picture ?
(a) DPI (b) CPI (s) PPI (d) b

If you want to enter text in a new line within a cell in an Excel sheet, press -
(@) Ctrl+Enter (b) Shifi+Enter (¢) Alt+Enter ¢d) Enter

Which of the following is False about Powerpoint Presentation ? \

(a) The standard slide sizeratiois4 :3 = —
(b) Pictures can be added into Powerpoint slide * 5\ = \JSS\
(c) Audioand Video can be added to the slides Fﬁ bl
(d) Spelling check is not available in Powerpoint

How to find IMEI number on any phone ?

@) *H04# (b) *#06% (c) *#06#* (d) #0o6#
Junk email 3 KA
email is also called — =2
&
(@ Spam (b} sp{}(}f (C) sniffer SCl'iPE (d] spool

2 ® s 2
- %%3* B R gt %ma
= o) Ta a a2 2 RO s
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7. which technology is used in compact disk ? o s f
a) Electrical J N
(. o ) I_aser -5 €3
(c) e ica (d) Electromagnetic -
- - \‘;.‘ |
" The primary goal of a compuler system is to turn data into
) } P -
(@) Ideas (b) Suggestions (¢) Information (d) Reports 9 \ 'f":'.‘
. \r
-5, Arrange the units of memory in descending order
@ TB>MB>GB> KB () TB>GB>MB>KB
() MB>GB>TB>KB (@) GB>MB>KB>TB ol
A
75, The Jong horizontal bar at the bottom of desktop is known as - "3
(a) Statusbar (b) Taskbar (¢) Menubar (d) Titlebar 2
+
7. Which function will you use to enter current date and time in a worksheet ? P
(a) = todayv () (b) =now() é_
(d) = current time () x

(c) = time ( )

78, The animations between slides in Powerpoint is called —

(a) Transitions

(c) Preset Animations (d) Effects

79 The communication line between CPU, memory and peripherals is
(a) Bus (b) Line (c) Media

80. Aword inawebpage that, when clicked, ope

(a) anchor (b) reference ) hyperlink

es SSD stands for?
ate Device

(d)

wing pl

,Record, Field, Database
&eord, Field, Database, File
4 Record, File, Database
Bte, Record, Field, File, Database

gion of -
Workbook (c) Worksheet

(b) Custom Animations

ns another document is called —

IS
(b) Serial State Data %
Solid State Drive =

aces the common data elements in 0

@y

called -
(d) Allofthese

(d) URL

rder from smallest to

/
13 04y QO/‘“L
e E‘g IS
SRS
Sy

(d) (a)and(c)
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: ating ¢ :
related to text formating (d) Text spacing

N4, Which of the following is not hi
' searchin
@ Linespacing () Margin change () Searchifie
85 BIONS stands fo s
Basic Integrated Output System

(h)
()

(@) Basic lnput Output Soflware frware

.arated Out ut So
(¢)  Basie Input Output System Basic Integrat d p

86, A phishing email usually means

@ Anemail from a friend about the best pl

(M Aunemail that has a dirty joke in it.

aces to buy fishing equipment.

\ation, like password. credit car

&) Ancmail that asks lor personal inforn
: s S
(@) Anemail that talks about lishing. > \_\‘-‘5 Yy
-
" . _ ) /(G
{7 What is the full form of L 115 in mobile communication ? . p\\ e X
(@) Long Term Evolution (b) LongTerm Extension Q‘/f-ft’/g
(¢) Long Term Enrolment (d) LongTerm Encoding.
88, 1C chips used in computers and electronic devices are usually made of -
53 (@  Lead (&) Silicon (¢) Chromium (d) Gold

29 What is the file extension in Microsoft Excel 2007 ?
(@ X (b) .xIsx (c) .xlex (d) .xlxs

90. HTTP uses standard port address
(a) 73 (by &0 (c) 23 (d) 91

Q1. We can keep multiple versions of a word document in a single file by using
(a)  Version change (b) Edition change ) )

(¢) Track change (d) Tracechange

92.  Which key combination is used to insert a Page Break in MS word 2

93. Tomake your website mobile friendly, you can make your website

(a) Responsive (b) Reactive (c) Fa i
stloading  (4) 1;
Light
94.  Which one of the following is true ? s
(3 You need a server to host your website files T /1
(b) Youdon'tneed a server (o host your website files Je Eﬁi’

(¢) Youcancreate a website without using HTML

You cannot create a website without CMS. LR
10

d numbers.

(a) Alt+ Enter (b) Ctrl + Enter (<) Space + Enter (d) Shift + E
1 nter

Contd
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. which program is usedllay web clients to view the web pages ?
) Web browser  (b) Protocol (c) Web server (d) Search Engine

" verification of a login name and password is known as —
(a) configuration (b) accessibility (e) authentication (d) loggingin

i, which of the following protocol is used by www ?

(2) FTP (b) SMITP () TCP (&) HTTP
g, Which function in Excel checks whether a condition is true or not ?

(a) SUM (b) COUNT @) IF (d) AVERAGE
g9. Which of the following is not a browser ?

(a) Chrome (b) Firefox (¢) Safari (d) Linux
100, The first computers were programmed using — )]

(b) Machine Language
(d) Object Code

(a) Assembly Language
(¢) Source Code

< Af!’ =
{92
_______ o 21
1
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“
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